(#8-3)
CHEMISTRY
PH and pOH

pH +pOH = 14
-log[H"] =
1074 = [H+]
[H'][OH1= 1.0E-14

1. 'What is the range of pH.
2. Is it possible to have a pH greater or smaller then 14 and 0 respectively?
3.  Which pH is basic and which is acidic?

In the following questions, calculate the pH from the concentrations of [z0*]. Indicate acidic or basic.

[H:0"] O 1 O ' pH
4. 1.0 6
5. 01 i
6. 0.01 7
7. 0.001 3
8. Whatisthe [H;0%]at neutral'?
o &~7
9. What is the [OH?]at neuu'al?
1.0 &7
In the following calculate the concentration of HsQ™ from the pH.
pH_ JOR /TR H:0"
10. 7 —2 SE~7
11. 2 1o . Ol
2,35 5735 = 2.0 &
Calculate the pOH from the following pH.
pH ...to... pOH fu
13, 12 —= 2 -
4.1 —=>13 i }aj(i,us‘é “16) = K G
\fy ,E# ——
A ~1.97
e Calculate the pOH from the following concentrations of HsO". )
H;0* ...t0... pOH fo) -} .
(X( 15. [1.05E-16 M] -7 27 O # by (ZS‘C'@)
‘17, [1.3E-12 M] s
18. [.00OIM] 2.2 T ~iog (!‘ se-¢)
Y= S = 2.1y

are the follomng selutlon Acldlc/basm[neutral"

19. 299E-6M]OH — B LS il
ﬁy e T A
Y L.001M] H;O" .:Pf% 7 [ =]

3. Student hypothesis: A person’s stornach is extremely acidic and therefore there is no hydroxide jons
in the stomach.
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